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State Eligibility Test - 2018
(Model Answer Key)
General Awareness/Teaching & Research Aptitude

Shift - 2

Q1 : Knowledge of the teacher that affects teaching pertains to:
fRIaTeh &1 AT Toraehl 38 fRASTOT O YA 95T g, F&Y &

Affective domain

HTaTcHS 98I &

Cognitive domain

JATcHS 98T o

Connative domain

A vy O

Psychomotor domain

D

HARTATHS 9&iT o

Answer Key: B

Q2 : The most powerful factor affecting teaching effectiveness is:

FRIETOT THTTRIRAT AT ) aTell Haltdeh Yaol FRS &

Age

3H

Gender

fofar

Professional competence

SOTGHTT S G&TdT

Use of teaching aids




D | RieToT wgraes AT @1 39T

Answer Key: C

Q3 : The utilization of smart classroom facility depends upon:

TAIC el FIAT 13U AR e &

Computer literacy

TG AERAT T

Literacy

HIERAT WX

Computer

"\W

Student's age

D

Rt #1359 ®

Answer Key: A

Q4 : Types of resources available to a teacher for professional development and learning includes:
1) Professional literature
ii) Colleagues
iii) Professional associations
iv) Professional developmental activities

et & caawf@s faee vd HReH g ey HAETUET & YHR A FiFAfd §:
i) SIgaETAe afecT

ii) gt

i) g afAfaar

iv) sagaTiRes Aemdarcas fhamamerg

only (i)

Sad (i)

only (ii)

hadl (i)

(i), (ii), (iii) and (iv)

(M), (ii), (i) 3R (iv)

none of these

$TH A IS ACH




Answer Key: C

QS5 : Which one of the following learner's characteristic not affects the efficiency of their learning ?
Arfaf@d # @ 3redar i Hia & AAYAr 38 3FTTA H gaTdr I gHiad Fer Hd
g2

Mental maturity

A as aRueaar

Interest

&

Attitude

fAghT

[

Gender

e

Answer Key: D

Q6 : The group in which independent variable is present, is known as:

o8 ¥ # Tacded W 3YTEAT @ g, 38 Hgl 1T &

Desired group

aifSd @Hg

Control group

[CRICERIRIE

Experimental group

SARIcHS HHE

Extraneous group

D
qE" AR

Answer Key: C

Q7 : Research design is characterised as:

ey f3omsa fAwlde:

Exploration

LGIc




Diagnosis

3UdReh

Experimentation

K GOLIGIREC

S

D

All of these

Tl &

Answer Key: D

Q8 : A researcher examines the relationship between a natural disaster and the behaviours occur in that

context. It is an example of which type of research?

Teh 3TTETIehcll TTehicieh TG T 38 Heel # ufed gl alel ¥Rl & e Heel &r
AT AT 8, TE fohdl TR & IHTHUTT HT 3eTe 0T &2

Descriptive research

qUTATCH TeTHETeT

Experimental research

TN Heb T Eee

Simulation research

P 9 1

D

Correlational research

HEAFIITcH e

Answer Key: D

Q9 : The operational definition of variable indicates as to how that variable may be:

T Fr fharate aRemsT g2l & [ 98 R 59 IR &1 §:

Described

afota forar arr

Measured

HTYT I1AT

Explained

SQrETAd fohar T

Observed




D | 3raaliferd fRar amr

Answer Key: B

Q10 : 'Longitudinal Studies' are a type of:
ST 3T Uh GehR T

Historical Studies

i@ 3reaaa gl

Survey Studies

adetor reTaA gl

Developmental Studies

feraTcHS e

Philosophical Studies

D

crifas 3reTaa gl

Answer Key: C

Q11 : Which of the folloing is not a type of research report?
AT § O 3l R RAOE #1 9Rr J87 82

Thesis/Dissertation

IMeT-Jaety, /e NI Yaeer

Research paper

B EE]

Text-Book of a subject

Conference/seminar research paper

D rtromeass: eter 59

Answer Key: C

Q12 : Failure to acknowledge the borrowed material in thesis/dissertation /research paper is called:

MY A SHT Toedil I AT 7 A [HeAToi@d H & wgelldl 8

Plagiarism

affers o




Foot Note

e dle

Index

=Y

N

Acknowledgement

D
FAT9eT

Answer Key: A

Passage:
Answer the three questions based on the following passage:

Passage Hindi:
e e ey 9 3maTRa T 92AT & 3R Sl

Q13 "Social networking or social media has become an integral part of modern life. social networking

. website such as facebook, twitter, myspace etc. have created new ways to socialise and interact. Users
of these sites are able to add a wide variety of information to pages, to pursue common intersets and to
connect with others. However, social networking and online profiles contribute to this, but giving
potential intruders a plithora of sensitive information. According to a survey more than twenty-five
percent children have online networking profiles, which can be exposed. Many users say that their
profile is set to "public", meaning there by everyone can see it and many of these display their address
and/or phone numbers. As increasing amount of personal information are surfacing on the web, it is
essential to remain wary of the risks surrounding the ease in which our personal details can be
accessed. It is good to be wary about publishing your private information even if other people are
happy to post pictures of their house or their contact details. remember what goes online, usually stays
online.
Results of studies on the usage of social networking indicate that large number of youth is almost
addicted to social media sites. Some even use sites at their workplace, where people who are addicted
to social media would log on first thing in the morning. While the students claiming use of social
media for the purpose of informal learning activities, only half of them use it to get in touch with their
teacher in informal learning contexts. Despite spending more time in socialising with others rather
than learning, they do not believe that it is affecting their academic performance."

Which of the following is an appropriate title of the passage?

"HIHTTST Acdichal & HIHATIolh AT 3MeIfoieh SlideT T 3o 39T §eF AT §| HiHATTH
Acafehel dEETSE S e, Tfdex, AS-E9F 3N o WIHATSIROT UG 3ecfshdl & AT A
el T &1 o1 |rATSeh ASe & Uil HUA AT STAT T GERE & Y S5 &
forw, fafdeet Wb I FEA13iT &I a9 9T G STel Hehdd | AU HIHATTGIR Hiedichel Td
HieTellgeT MBS SWIFd H TNTETA o & foho] THIA gEUTSAT & fov I8 TgTad
AN AT T AT YTl el &1 HIETOT & TR gedirg gfaerd & e sl
F TS IATTSS Acaiehel MPHBST & Sif 39PN 8 Johd gl g T 3UHFATT BT




Fgoll g Toh 3AHT NHSel dfcars garT J&ToNT & 3R 3 aoig & 3AFN Tdl d Bled JAFX
3 & foRel & SaRT <@ ST Hhll &1 a9 9o W Fech g5 FAfFTS Faansit & FRoT T8
aeTH ¢ F §H AT ol & 3TeleY gl & HAE @Al § diend E| T§ 30T ¢
& & 3l AFRIT F@aAd Jehfid et & AUl & a8 AR aler 39e exi &1
dEIRY g AU GO TIROT T U Ik G B 8 CA T8, foh S §H TS e
¢ 96 91T leTeliget &1 @Al

AT Aeafdher & YT Feaeel 31eqgsT & gRome g2 § o 3rftenrer T &
gaTadT AT ST Arse & T AT §1 O al 39 Tl & 3o @rget Hr
JAT I § AR ST S 3 TTsel & Fq@e & O 3AFT T F ugelm S 57 A8 R
ST 3T AT gl ¢l W faeardt St aanfaes AfEar & sdgaies smec#as
sfafafel & §9 & 99 e T LI T@A ¢ 3AH F A &7 AT A1Seh & JIeT ganT
3eT FRAGTRT & FFIH A 3T 91 &1 W H 306 g F FFIE ae A s §h
AN dTel 9T Ig faRard =18 X foh 30 A 3AHT 3THGTHG sdicsT gafad gargl”

W T & AU et & & FlaT a1 3ugwd M &2

Social media and youth

N e Ao o
Utility of social media

B e s seam
Social media : A boom

¢ Ao HIfSAT: Th 3BTl

5 Effects of social media

AT AfSATH gHT

Answer Key: D

Ql4:

"Social networking or social media has become an integral part of modern life. social networking
website such as facebook, twitter, myspace etc. have created new ways to socialise and interact.
Users of these sites are able to add a wide variety of information to pages, to pursue common
intersets and to connect with others. However, social networking and online profiles contribute to
this, but giving potential intruders a plithora of sensitive information. According to a survey more
than twenty-five percent children have online networking profiles, which can be exposed. Many
users say that their profile is set to "public", meaning there by everyone can see it and many of these
display their address and/or phone numbers. As increasing amount of personal information are
surfacing on the web, it is essential to remain wary of the risks surrounding the ease in which our
personal details can be accessed. It is good to be wary about publishing your private information
even if other people are happy to post pictures of their house or their contact details. remember what
goes online, usually stays online.

Results of studies on the usage of social networking indicate that large number of youth is almost




addicted to social media sites. Some even use sites at their workplace, where people who are
addicted to social media would log on first thing in the morning. While the students claiming use of
social media for the purpose of informal learning activities, only half of them use it to get in touch
with their teacher in informal learning contexts. Despite spending more time in socialising with
others rather than learning, they do not believe that it is affecting their academic performance."

Which of the following statement is true ?
"HIATS Seafher Ao AT e SNael &7 ITeg 3T o =T §| FAfSS
Acafhel dSATSE SI: e, TIAeT, AS-FE IS o HATSIROT U 3edishdl & &7
AT @ T &1 51w Ase & 39N 9T QAT §RAT 9 g & A9
S5t & Tow, fafdiest R &1 IS T A9 97 W ST Fehol &1 IS WATSTH
Acdfehdl Td 3HieTeliged NHSel IWIeFd H IR od § fhe HHIET gadieal & fov g
SEAId HaeeTlTe FIAIT T HTAT Yeled HIAT & TARTOT o IHqaR gedre gfderd &
30 Sl & ITeTelTsa WIS Aeafehar Whrger § i IR 8 Foh 1 95 &
STHFATHT FT FHgaAT o Toh IeTaT NHIS Ufeoleh garT 9aToiT § 3R 33t aoig & 3oTehr
YT & Bie wiEeR o g3 TRl o ZaRT 2T ST Hehell §1 99 Ul W sech g5 adfeas
AT & HRUT I MaRTeh § foh §H ShTadald Hll & 3TeleH Flol o HHTE Wi 4
e | TE 30T ¢ T & 36l AfFdad Il YT e & AUl § 1
3R ST 3T ERT BT TER T 3O GEge [3aR0T Ui ek U B 81| e T,
& ST g7 TS ad & g UI: Hidoree & @arsl

ArATGI Sedfehal & YANT FFaael 37ETAT & GRUMH 2iid & fop 7fehier gear &
gaTadT FrHATTSe ST AIse & 9T AHAT &1 O ol 39 ol & 5ol Frgel
g G & 3R FafF St 57 Trsel & cagelr § F 399 T & ugem F s drser
X AT 3T T gIaT &1 O faeardt S amnfares Aifsar & siaaie e #s
afafafeal & §9 & 99T e T LI @A 8 3AH I AT @7 A drset & JIeT ganT
3eT RAGTT & FFIH A 3T 91 &1 HEs 306 g F FFIE a9 A 3fE aw
MM aTel AT g 399 18T X b 39 & 30T JTheiae fTsaeeT AT giare|

T & O i a1 T T §?

Most of the people are happy to post pictures on social site

HTRYRI a7 FTATTSIh HSE T TR GIEC leh U &

Spending time on social media affects the academic performance of students

AT AZAT R TAT Fde F et & meefAe F-677aT W 9HE 93T gl

Majority of youth is addicted to social media

31fRrehTer gaT-aeT FrAToh HSAT T THAT &

Only your acquaintances can see the posts on the social media




D | grAriae AfRAT W shae 3m9s aR™T & 39e 9 ¢@ dod gl

Answer Key: C

Q15 : "Social networking or social media has become an integral part of modern life. social networking
website such as facebook, twitter, myspace etc. have created new ways to socialise and interact.
Users of these sites are able to add a wide variety of information to pages, to pursue common
intersets and to connect with others. However, social networking and online profiles contribute to
this, but giving potential intruders a plithora of sensitive information. According to a survey more
than twenty-five percent children have online networking profiles, which can be exposed. Many
users say that their profile is set to "public", meaning there by everyone can see it and many of these
display their address and/or phone numbers. As increasing amount of personal information are
surfacing on the web, it is essential to remain wary of the risks surrounding the ease in which our
personal details can be accessed. It is good to be wary about publishing your private information
even if other people are happy to post pictures of their house or their contact details. remember what
goes online, usually stays online.

Results of studies on the usage of social networking indicate that large number of youth is almost
addicted to social media sites. Some even use sites at their workplace, where people who are
addicted to social media would log on first thing in the morning. While the students claiming use of
social media for the purpose of informal learning activities, only half of them use it to get in touch
with their teacher in informal learning contexts. Despite spending more time in socialising with
others rather than learning, they do not believe that it is affecting their academic performance."

What do you think from the above passage that people other than youth are least likely to get
addicted to social media?

"HIHTTST Acdichal & HIHATIolh AT 3MeIfeieh SlideT T 3o 39T §e1 IAT §| HWiHATSTH
Aedichdl JAEGC S AT, TfACT, AS-TIH MG o FHATSIHOT Td Heclshdl & AT
AET @i RU € 31 Al dC & 3usiadT 396l AT §adt F gE & 6
S5t & ToIw, fafdiest e &1 FESHT T a9 9T W ST Fehol &1 JSUTT AT
Acafehar Td HieTellgd NBEe IWFd H A & & fheg FHI gaifeat & fav g
SgATId HdeeTelel FIA3 FT HAER Feled AT &1 FIEI0T & IR Tedh gfaed &
3T Fedl & HeTeTse FATSH Acdfhsl NHF § S 3R & Fhod &l 96 &
IUHFATIT FHT FgalT g [ 3T NESl dfceres garT 9oy § 3R gl aaig 8§ 3eThr
Wamwﬁﬁ%ﬁ%@ma@mmﬁlaﬁﬁawmgm
AT & HROT I 3MaRTeh § foh §H ShTodaTd HIll & 3TeleH gl o HHTE Wi 4
e T TE 30T ¢ 6 &7 06l AfFAId AT YT e & Haure § 1%
3R ST I ERT BT TER T 3O GET (IR0 T U ek G B 81| €A T,
for S §H 3MTolSed ald § 98 WI: 3iidelss & WEar gl

AT Acaihel & YINET Toaell eqgd & gRoma geid & o 3rferer dwar &
gaTadT AT ST IS & T THAT &1 6 ol 39 Aol & goT Frgel
TIRT A & 3R Sefe S 57 Trsel & caTer § o 3 fiT & ugelm #1 57 T@iser
R AT 3T HAT gar g1 T Feardt S amefores A3 & s=iaaie snFe#Es
afafafial & §9 & AT R FT LT I@T §; 340 F 3T & 0H A1get F gAT gaRT




oo RAETH & FFIH A 3 I g1 WG HT 30T gl § FIF aalel H 31T a7
AN aTel oATeT g f32arT 8T X fh 39 & 3T TPIEiAe TsaesT Tsad giare|

SRS TGN A Y 47 Fiead ¢ & Far-aal q geR ST qrAtioreh ST & g
ATH & § FHIAT 8 Fohdl 82

Probably true

TFEHIT: TE

True

SRl

Probably false

HFEATT: ITeld

Can't say

D

gl el ST gehdl

Answer Key: D

Q16 : Which one is not the type of communication according to direction of communication ?

FFITOT Y AR 3TAR FleT AT TFITOT HT G AET &2

Downward

GIGECT 0y

Upward

I T IR

Horizontal

HHlA dlldel &l

Individual

Daﬂ?a?ra

Answer Key: D

Q17 : Which of the following initiates the process of communication?

fAFIfaf@d & @ FlaT FFEIVOT GihaT &l 3IRFH A 82

Decoder

% Wielel aTell




Receiver

QTCehdl

Sender

IY&

Medium

D
HTETH

Answer Key: C

Q18 : Effective communication pre-supposes:

THTE NI H qd AT @

Non-alignment

deErar

Domination

JHY

9

Understanding

arer

Passivity

D
EALIEGI

Answer Key: C

Q19 : IfREAD = 14 then LEARN=?
gfe READ=14 g al LEARN=?

18

18

20

20

25

25

27
D

27

Answer Key: C




Q20 : P,QR and S are playing carrom. P,R and S,Q are partners. S is right to R and the face of R is
towards the west then what will be the direction of the Q's face?

P,QR YT SHA WS @ gl PRAUT S,Q UE gl
SR T § TUT R AT HW UiRGH &1 3Re. Al QF 7@ &1 feem ar gf

East

South

North

West

DY e

Answer Key: C

Q21 : Fillup the __
3,7,10,14,?

g g & 9y
3,7,10,14,2

16

16

17

17

18

18

19
D

19

Answer Key: B

Q22 : Which of the following is different from others?
T 7 O a1 ' 3T F e g2

TUVX

TUVX

OPRS

OPRS




BCDF

BCDF

HIJL
D

HIJL

Answer Key: B

Q23 : Jis the mother of K, L is the son of J, M is the brother of N, N is the daugther of K, then who is the
grand mother of M ?

KT AT J§, T 99 L NHT #1$ ME, K g3 Ng. dr Mr arer i g2

2|l mR IR

D
M

Answer Key: A

Q24 : If the proposition 'No men are honest' is taken to be false which of the following proposition can be
claimed certainly true?

e g dh-ardd Al 5T AT TAWGR AT & Dl IeId HAT AT & al fAeaarorad
Jh-ardt A R ATd 9 T FEY 8l FT grar RAT AT ThaT g2

All men are honest

gafr 37T SATER &1

Some men are honest

T A SARTER &

Some men are not honest

FC IEH SHAFER 8T &

No honest person is man

D

IS SHGIGR ST 3TEHT el &

Answer Key: B




Q25 : Most of the Guitarists are beard males. If 'a' represents all the male and 'b' represents beard males
and 'c' represents all guitarists then which is the correct diagram for their relation?

ifereRTer fileRaresh ardl arel g8y g & Al ‘2 @l q&st &Y fASae e 8, 'b'arer
arel g foh fAefa aear & 3R o qaf Perarees @ Al war § ar 3a9¢ graeul

& fow @gr @ R slaar §
(b () c
{ 1
| Z |
! a .I
A —
£ b )
{ \ 1
| Z |
! a "
-~ S 3o 8
/
f
|
\\
~. o g -
B —
- ~
/
|
|
\
g . B
P i i
Fé N\ X ™
/ R / \ \‘-.
f r \ P \
La [ Jb{ Je |
\ \ / Ii- ;" ,.’“
X 'Y 4
s NG
C —— —-_—
// -\‘-\/" "\\—f"_"ﬂ-\
/ /'/ \ Y, '\ N
f !. / \
[ a .. ' b{ |¢ |
\ \/ \ ,"/ ;‘J‘
S NG e s Z




Answer Key: D

Q26 : Which one of the following venn diagrams correctly illustrates the relationship among: carrot, food,
vegetable?

farafaf@a & i a1 W@fRT R, @ey, gl & WER gFaedr & @ [afFg
T 87




(—~)
( \
|
{
\ /
C ——
(o
2 D
[ \
|
{
N\ 7
7N X
{ | { \
ln_ llI J
\. N \ /
N DTG I 2
D —
s e S
| J | |
\ R
N \/ \ /
N AN v S 2

Answer Key: A

Q27 : Given below are two statements labeled as assertion A and reason R. In the context of these two,
mark the correct answer.

Assertion A- some idealists are fanatics.
Reason R- All reformers are idealist and some reformers are fanatics.

code:

o feu ararerat - 3ifehysT AT giad RE, 37 T arerdl & @eey & o QU a7e fasheut
H O eI fHe H ThT B

HHRUA A - TS Al aFi= gl

IiFd R - Tl GURALE Hedarel § 3R & FURAK Ya-v gl

FIS:

Both A and R are true and R gives correct explanation of A

AT RS AcTg T RA ST Ter <Ir&dT gl

Both A and R are true but R does not give correct explanation of A

AT R T Y JfheT R A fT TEr <arear g7 gl




A is true but R is false

AT ¢ RIET ¢

D

Both A and R are false

AT RGN 39T gl

Answer Key: A

Q28 : Direction:

Four students O,P,Q,R have appeared in the examination. There are four paper I, IL, III, IV. The
maximum marks of each paper was 100. Following are the marks obtained by students:

Students I T M v
0 60 81 45 55
P 59 43 51 A
Q 74 IN 71 65
B 72 76 A 68
A'= Absent

Which student has got 60-65% in the total of attempted paper?

farcer:

4 faeafdar O, P, Q, R« IRET & & A A 49T U7 ¢ LIL 1L, TG IV, TAh 92T
aF 100 37T 1 ¢ faeanfal & ganr grea 3@ A9 g a9 arofr & gafe v &

= I I i v
0 60 81 45 55
P 59 43 51 A
Q 74 A 71 65
R 72 76 A 68

A"= Absent/ semaf¥era

fore facamedi & gef fhU 1T QT &I A 60-65 SiaRrd 37 Ao g2

AR IOIQIT|T|IO]|O




Answer Key: A

Q29 : Direction:
Four students O,P,Q,R have appeared in the examination. There are four paper I, II, III, IV. The
maximum marks of each paper was 100. Following are the marks obtained by students:

Students I Il 1] v
0 60 81 45 55
P 59 43 51 A
Q 74 IS 71 65
R 72 76 A 68
A"= Absent

Which student has got minimum average marks?

e
4 faeanfdar 0,P, QR uRkaT & & ¥ fAX 492 97 § L 1L 1L, U9 1V, 93 W2l
9T 100 37T FT § AeTIAT & ea@nT ured 3 A f§ 718 awrofr 7 gefv av §

= i T M v
0 60 81 45 55
P 59 43 51 A
Q 74 IS 71 65
R 72 76 A 68

A"= Absent/ 3o

fra facardt &1 =ge1da 3ftad 31 e 82

AIROIO|T|T|O|0

D
R

Answer Key: B

Q30 : Monthly expenditure of a family has been shown in the following pie chart:




< 70% N
\ Cloth /309 "\

/ Rent__—
o6 N X
|
| Education l
| =R 00 |
Food

What is the percentage of expenditure on education out of total monthly expenditure?

A @I & HUR R oo g @3 (915 =1e) fe@mar &

< 70% )N

 Cloth "'30%',""\
90% / Ee?—t' P~ ..\‘.ﬂ
‘.' Education/v‘_.‘ '4170% l
Food

Sl AIAS T 1 & R e gierd @ fhar Sirdr g2

70%

70%

90%

90%

25%

25%

40%

D

40%

Answer Key: C




Q31: —

- 70% »}
Cloth__, /30%\
90% V4 B_e,'?i - ."'.I
", Education , "170% III
Food

If expenditure on food is Rs 1500 then what will be the expenditure on cloth?

70%

'  Cloth , "'30%"“- g
90% \ /)
", Education}vv“,. 'v170% |
Food

e AT W 1500 F9F @T 21T § aF IS W hdar @ grem

Rs 360

360 FII

Rs 700

700 T

Rs 900

900 T

None of these

Pl & ms o

Answer Key: D

Q32 : The internet protocol address of each computer is:

Jedeh HTYT I FeTAC WISThlel IdT Bl &

Unique

faferse

Same




Continuous

Hdd

~

Structured

D.F1

Answer Key: A

Q33 : Whatis the full form of B.C.R. as used in computer related activities?

HY A FFafetd Hraf & gAer g SALNR. F QU7 ®T R

Basic Copy Reader

affs S YT

Binary Carbon Runtime

TS hTeleT JACISH

Bar Code Reader

IReIs JsT

Byte Command Reader

D .
ase HAE I

Answer Key: C

Q34 : Which of the following is not an example of storage device ?

Af@d H TPl I1 T TR Zasd 6 82

C.D.

.

D.V.D.

Srara.

Loop pattern

aT YT

N

Hard disk

D

RERE:D

Answer Key: C

‘What is 'Norton'?




Q35 : ATEA T 82

A

Antivirus

TaRRE

Vaccine

derdllet

Program

EID L

D

Network

dcas

Answer Key: A

Q36 : How internet banking can be accessed through?

Sc¥aie ST &1 3uAeT FH FAT ST TR B2

Mobile with internet facility

$eoie S FRYT AT AT §

Laptop with internet facility

geqeie I GIaer arel e T &

Computer with internet facility

geTele I Giaer arel Hegel

D

All of these

Tofr ey

Answer Key: D

Q37 : Which of the following is not an input device?

frfaf@a & Il a1 seqe Basw a8 &

Microphone

HISHIBIT

Key board

Fr-ars

Mozilla fire fox




C | AT BRR Biag

Mouse

D 1Y
ABH

Answer Key: C

Q38 : The National disaster Management authority functions under which union ministry?

TSE IS TITARUT dhog, & fhT AT & 3T FT T &2

Environment

qgTaRoT

Water resources

STAGETET

Home affairs

IEHTHA

(&

Defence

D
&t

Answer Key: C

Q39 : At this juncture the development and environment have become:

oA H T 3R 9ITeRoT Th gEr

Opposite to each other

e §o7 a7 gl

Balanced to each other

Hodiold e AT E|

Complementary to each other

Weh & AT ¢

Partner to each other

Dm?ﬁa?r?rtr%l

Answer Key: A

Q40 : Result of deforestation is :

geTehelel &l IRUTHA &




Disturbance of natural balance

STehfcieh Tclelel T TS STT=T|

Extinction of medicinal plants

Fwehrar dte R

Rain-cycle becomes irregular

auI-dgsh &l AAITAT 8 F1=T|

All of these

D
Ty gar

Answer Key: D

Q41 : Environmental management is related with:

JATERUT Jaetlel FFafeed §:

Preservation only

$ad gadeRIoT o

Conservation only

hdol TIETUT &

Both preservation and conservation

HoAIOT AT TIET0T aleir o

Planning only

Dl saer ororomr &

Answer Key: C

Q42 : Which one of the following is not a natural hazard?

frafaf@a & d#ia & uefas smaee 78 &

Earthquake

HhFT

a

Tsunami

HATHY

S

Flash flood

IR THAS §16

Nuclear accidents




D

fSeRer gFfeaTd

Answer Key: D

Q43 : Given below are two sentences: Assertion A and Reason R. In the context of these two mark the

correct code:
Assertion A - sustainable development is critical to well-being of human society.
Reason R - environmentally sound policies do not harm the environment or deplete the natural

sources.

code:

ffaf@d ararral- 3@ey AT gied RQT 10 g &1 aF arerdt & @l A = feu

T Qredl A T T8 Raey &1 T Hifaw:

AP A- Tad AR ATAT THATST & FHed1oT & oIT 3TaTH giar gl
@R-Wﬁﬁﬁsﬁamﬁrwﬁmﬂﬁmﬁaﬁqﬁiﬁywm
AT T &ROT FET e &1

Both A and R are true and R is the correct explanation of A

A AT REH AT g AR R A F @& sare gl
Both A and R are true but R is not a correct explanation of A
B AT R T ¢ oifchsd R A T eI SATEAT 78T g
A is true and R is false
¢ AT § 3R R33TT B
Both A and R are false
Pl 3t R e 3 gl

Answer Key: B

Q44 : Which of the following statements are true about eco-system?

1) Eco-system comprises both biotic and abiotic component
2) solar radiation is the main driving force of eco-system

3) Eco-system is a closed system

4) Eco-system does not have its own productivity

aIREufehl e & fawa & fee foaf@d & & $laT a1 wyT &g | QU av e &
YR W HE IR A IIT RIfSTT?

1) IIRTETH 7 ST U9 3o dT ST & YHR & T Sl FHATISE HlaTr gl

2) R fevor aifeufadr a7 & daree i gqe afed Bl




3) gIRfEufadr o5 v ¢ a7 B
4) UTRTEATADT I T 3T IS 3cUIGehdT =Tl gl gl

1 and 2

13k 2

2 and 3

23k 3

land 3

13k 3

3and 4

D
33t 4

Answer Key: A

Q45 : Indira Gandhi National Open University was established in:

gfermanel Isgrr ereT faeataedrerd i TUTAT g o

1980

1980 &

1982

1982 H

1985

1985 &

1989

D
1989 &

Answer Key: C

Q46 : Teacher working for the rehabilitation of disabled children must register them selves with:
feeaieT el o qaaaid & ol HEATTR! T HUAT GofeoT JHiAard & q AT
Bl

N.C.T.E.

TS A

R.IE.

IRIMES. &




N.C.ER.T.

TS IRE A

D

R.CIL

RIS, F

Answer Key: D

Q47 : "The Indian Institute of advance studies" is situated in:

Shimla

e &

New Delhi

S feeel

Lucknow

TJ@AF H

D

Bhopal

farer

Answer Key: A

Q48 : According to revised grading pattern of NAAC, the highest grade is:

A (THA.T.TH.) & FAAT AT GFT & AR 3add Is §:

A

A

A+

A+

A++

A++

D

B++

B++

Answer Key: C

Q49 : The regulatory body for distance education in India is:

HRA # oIey e i s g &




IL.GN.O.U.

351 (3TS. .U 31.7)

C.B.S.E.

drdfreas.

AILCTE.

T3S A

U.G.C.

P g .

Answer Key: D

Q50 : Who was the first Chairman of University Grants Commission?

faafdearer e 3T & guH 3reget Sl A2

Dr. Manmohan Singh

3T. A AT g

Prof. D.S. Kothari

gr. 3. 7. FIoRT

Prof. Yash Pal

9T, JA9TA

Prof. S.S. Bhatnagar

D
9T, TH. TH. HCARR

Answer Key: D




